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answer onln qg-iGifrom the follo\ling:

of an insulalors'

(24 degree)

semiconductors and

1 . Explain with drawing the conduction and valence bands

, i,"J.1liJl'i;. "11^li:Tii i#'i::?*;: resisrance or a crystar diode

J What do vou understand :i;il;";t of the half wave rectifler'

4. Derive an expression l1'[;;:;i;pui* in u silicon crystal'

5. Describe the creation or,er'-;;;;";. 
at ordinary temperature.

6. vr&Y are a semiconduclors

Q2/Select the correct choice for only five ofthe following statements (20 degree)

I An addition of pe avalent imi*'5i:i.:::'1,':.T*;'"'ilTLTJ;i"'n"'

,,.i1.#ill:'JJil,i:l1i::}i-i:li:::*XTl:U, d) none o*he above

ar Goes up Dr l-uc5 ","niu.,ion current is d,u:,ll 
;, :,;.,rons dlnone ofrhe above

' *.1",i1::lojil"Ji;:: #;""''"'rv cthores&-er

- 
'Xi Tiii 

;i'i;.'. ii" o" :""t'"i lT$'*"ili1'"L"1iil. "0"""

, 
^ r 

,h:mffri,iij. o,.ioirectional switch c)unidirectionai switch d)none of the above

o. rii '*ot" 
saturation current ls is exist at 

d)both c & b

a) Nobias b)fbrwardbias c)r9ry!1as 
=230 i;;;=;0HZand n=r/S

a3/ # ;;."; 
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Q4l Determine Vn for two only of bellow networks: (26 degree)
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NOTE; Attt'mtrr Four (Juestion^s Onh

Ql: (A) Derive torque equution fbr PMMC instruments.

( B) Explain type,r o/ meusurements error,\.

Q2: The./ollowing values were obtuined./rom the measurements .fbr o resistor in ohms:

220.2, 119.5,221.1, 119.9,22A.0,220.5. 119.8,220.1,220.4. und I19.8. Culculate

a. The arithmetic mean.

b. The average deviation.

c'. The standard deviation.

Q3: A recentlv calibrated digital voltmeter is used to read a wtltage and it consistently

vields 75 volts. Another meter in the lub is ulso used.five times to measure the

sunte voltage and following readings are obtained: 77, 75, 74, 76, 77. For the

.\econd meter, Find tlie absolute accuracy, relative accuracy and percentage

accuracy. lMarks 25 |

Qr': Design an Ayrton shunt (indirect method) to provide an ammeter with cutent

ranges 1A, 5A and I0A. A basic meterwith un internal resistunce

oJ (60 Q and half scale deflection current oJ (60 pA) is to be used. lMarks 25 |

Q5: A hasic D'Arsonval meter with un internal resistance Rm - 100 {> and u.full scale

current rt-lmA, is to be converted into a d.c. voltmeter with ranges cf 0-10 V, 0-

50V. 0- I 00V. Find the values of the multiplier resistances [Marks 25 ]

[Marks l0 |

[Marks 15 |

lMarks 05 |

lMarks l0 |

lMarks l0 |
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(30 Marks)

Fig.l

Ol: Obtain the equivalent resistance of the circuits in Fig.l.
3OCJ

Q2: Find (I) in the circuit of Fig.2 using source transformation.
5V 1rr

(30 Marks)

Fig.2

: An electrical resisfive load takes a current of l2A from a

Calculate the cost of electricity if the equipment is used for
the cost of I kWh of energy is 100 dinars.

220V supply.

40 hours and

(10 marks)
B- : A coil of copper wire has a cross-sectional area of 0.gmm2 and a length of

1600m. Find the resistance of the coil and the power consumed when the
coil is connected across 100v Dc supply. (Take the resistivity of copper as

0.02x10-6 f,!.m).

(4Jljll rj..-ll + iI-yt itS)

(10 marks)
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A.

B- Determine the number of meshes and loops in the circuits shown below.

{l+tb . . ...... (element), (branch), 
-(node) 

ds {.l.jJ dr5:.yt Jilt si {rjriJ+sjt jtJat! gr+ |._J r+, .; E-x

,|"J:l#lil,Jr"#:ff;_:r"t"."oi.,-i""o"n".,nodesandessentialnodes,
,_A^AA-- (10 marks)
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Qi; Find alr properties and graph fbr the folrorving trigo'ometric functions: 20 M
i.

2.

includes

lJ :4sin(_Z;re, + nj
Q2; In the circuit shou,n, wrrte the looo

currents (il, i2, i3) in their loops. I0 M

Q4: Use Cramer,s rule to soJve the system: 20 M
?:1 - 2a;2 f :r3 ,3

2r1a r, - ,, s
iJ"1:, -.i:2 12r3 n.

equattons and put them as a mahlx
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Q5: find the derivative for.the follorvjng functions: 30 M
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Answer all the questions

A, \\1hat is the differences between Inputs / Outputs units?

iBlWrite with short notes about types of Ms-Dos System Cornmar.rds?

(15Marks)

(l0Marks)

Q3/\\'rite about the l-eatr.rres that distinguish betn'een Ms-Dos System and windou,s.
(2SIl a rks )

Q4 /Use N4s-Dos s)rsteln Contntands to ans\\ er the fbllowine

Q2 i Fill in the blanks.
1- Memory space is measured by bit and byte that's mean

Byte.

l- create a directory on the Desktop na'red Comrnunicatio. Engineer with file
Tele.txt

2- Rename the directory Contrrunication Engineer to IT Engineer
3- Rename the file Tele.txt to Tele.doc
4- Displayed all files in IT Engineer.
5- Copy directory IT Engineer to (D: drive).
6- Delete Tele.doc
7- Remove a Directory IT Engineer.
8- Display the date & time after delete the director-v.

2-
3-
4-

.l*.!lr , ,*! ,

Ot.p l;+., +l

(25N{arks)
bit equal

There are two basic of component in CPU------------and---------
The ntemory is dividing into two pafis ----------- and-______________-_.
The operating system Ms-Dos stol.ed five attributes to each file __

----- and
There at'e t\vo t),pes of files in Ms-Dos syslem are and _____________

(25Marks)

Best Wishes


